1. Use an augmented matrix and elementary row operations to solve the system of linear equations.

—3x—-3y=3
—3x — 2y =12

A. 5:1_18
B. ;:1_36
C. ;::;27
D. ;“:5_14
E. 5;6_13

F. There is no solution.

G. There are infinitely many solutions.

z=-10
y=9

2. A small boat can go 21 km downstream in 2 hr but only 18 km upstream in 2 hr. Determine the rate of
the boat and the rate of the current.

A. The speed of the boat is 9.4 km/hr and the speed of the current is 1.6 km/hr.
B. The speed of the boat is 9.8 km/hr and the speed of the current is 0.8 km /hr.
C. The speed of the boat is 10.3 km/hr and the speed of the current is 0.7 km/hr.
D. The speed of the boat is 10.5 km/hr and the speed of the current is 0.4 km/hr.
E. The speed of the boat is 10.6 km/hr and the speed of the current is 0.3 km/hr.
F. The speed of the boat is 9.7 km/hr and the speed of the current is 1.5 km/hr.
G. The speed of the boat is 9.1 km/hr and the speed of the current is 1.3 km/hr.

H. The speed of the boat is 9.5 km/hr and the speed of the current is 0.1 km/hr.



3. Write a system of linear equations in x and y that is represented by the augmented matrix. [ 1

r—2y=20
4 — 6y =9
6r—y=0
2z —4y =9
dr—y =9
6r —2y =0
4 — 6y =0
r—2y=9
6r —2y =9
r—4y =0
z—4y =9
20 —6y =0
20 —4y =0
6r—y=9
2¢ — 6y =9
dr—y =20

A.

B.

4. Write a system of linear equations in = and y that is represented by the augmented matrix. {
Oy =8

A. r+y="7

B. Oy =7
r+y=38
=28

C. y=T
y=28

D. T
r+y=38

E. Oy =7
r+y="7

F. T4y =8
y="1

G. y=8

nor= 7

y=28

O =
i)
-~ @



5. Write an augmented matrix for the system of equations.

0oy
25002
o0
o [0 3]
=408
o[ 1]E
o[ V]3]
w3

6. Use an augmented matrix and elementary row operations to solve the system of linear equations.

204+ 3y =2
—2r—-2y==6

A. There is no solution.

B. 5;:5_14
C. z:g“
D. zi;f
E. 5:1_09

F. There are infinitely many solutions.

r=—15
G. y =4
o r=-—12

y="17



7. Write a system of linear equations in x and y that is represented by the augmented matrix. [ 1 —76
A 672 —|; 4yy::52
B Gty
T
B
p 0
G. 675 _JF 41;4::25
6z + 7y =5
e —y =2

8. Use an augmented matrix and elementary row operations to solve the system of linear equations.

r+3y=3
—x—3y=-3

A. There are infinitely many solutions.

B. 5:3_2
C. ;:é
D. ;:2_3
E. 5:;4
F. zz(f’

G. There is no solution.

r=3

H. y=8



